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QUESTION 1

Which three connection types are available when configuring a vSwitch in the vSphere Web Client? (Choose three.) 

A. VMkernel Network Adapter 

B. Physical Network Adapter 

C. Virtual Machine Port Group for a Standard Switch 

D. vMotion Network Adapter 

E. vSAN Network Adapter 

Correct Answer: ABC 

Vmkernel network adapter, physical network adapter and virtual machine port group for standard switch are the
connection types available when configuring Switch in vSphere client. 

Reference: https://pubs.vmware.com/vsphere-55/topic/com.vmware.ICbase/PDF/vsphere-esxi-
vcenterserver-55-networking-guide.pdf 

 

QUESTION 2

An administrator is moving a virtual machine into a resource pool. The VM and resource pool are configured as shown: 

VM configuration: 2GHz CPU reservation 1GB Memory limit 

Resource Pool configuration: 6GHz CPU reservation 1GB Memory reservation No limit to memory 

What happens to the virtual machine\\'s resource settings when it is moved into the pool? 

A. The VM inherits the resource settings of the resource pool if expandable reservations is enabled. 

B. The VM\\'s reservations and limits are ignored and removed. 

C. The VM keeps the 2GHz CPU reservation but receives the 1GB memory reservation. 

D. The VM keeps the 2GHz CPU reservation and the 1GB Memory limit. 

Correct Answer: D 

When the VM is moved into the pool, it keeps the 2 GHz CPU reservation and 1 GB memory limit. Reference: https://pu
bs.vmware.com/vsphere-60/topic/com.vmware.ICbase/PDF/vsphere-esxi-vcenterserver-60-resource-management-
guide.pdf 

 

QUESTION 3

Which two storage controller configurations can be used with Virtual SAN? (Choose two.) 

A. SAS controllers in Passthrough mode 
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B. SAS controllers in RAID0 mode 

C. SAS controllers in RAID1 mode 

D. SAS controllers in RAID10 mode 

Correct Answer: AB 

SAS controllers in passthrough mode and in RAID 0 mode can be used with virtual SAN. 

Reference: http://blogs.vmware.com/vsphere/2014/01/virtual-san-hardware-guidance-part-ii-storagecontrollers.html 

 

QUESTION 4

By default, each ESXi 6.x host is provisioned with a certificate from which root certificate authority? 

A. RedHat Certificate Authority 

B. VMware Certificate Authority 

C. DigiCert Certificate Authority 

D. Verisign Certificate Authority 

Correct Answer: B 

In vSphere 6.0 and later, the VMware Certificate Authority (VMCA) provisions your environment with certificates. This
includes machine SSL certificates for secure connections, solution user certificates for authentication to vCenter Single
Sign-On, and certificates for ESX hosts that are added to vCenter Server. Reference
https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.security.doc% 2FGUID-3AF7757E-
A30E-4EEC-8A41-28DA72102520.html 

 

QUESTION 5

An administrator is configuring the Failover Order option on a vSphere Distributed Switch. 

Which two options should be used with IP-hash load balancing? (Choose two.) 

A. Active Uplinks 

B. Standby Uplinks 

C. Unused Uplinks 

D. Override Failover Order 

Correct Answer: AC 

Active Uplinks, and Unused adapter Uplinks are used with IP hash load balancing. Reference:
https://books.google.com.pk/books?id=35TE4cSycNACandpg=PA201andlpg=PA201anddq=IP+hash +load+balancing+
active+uplinks+unused+uplinksandsource=blandots=ggg8VOCpw4andsig=EaqvN49p2UWQ5b6V53SkFFmJhcandhl=e
nandsa=Xandved=0ahUKEwiv1ruEhMbNAhVGL48KHfXaBN4Q6AEIUzAJ#v=
onepageandq=IP%20hash%20load%20balancing%20active%20uplinks%20unused%20uplinksandf=false 
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